OTHER FINANCIAL INFORMATION

WHO TO CONTACT

Student Financial Services Office (SFS) a t a at a a a a a t t at A U t , t -

Alternative Loans. A

S

1 1 1 a 1 a a a 1.)

Application Fee

Application Fee

330
40

Auditing a Class.

	THYAIVCIAL HVT ORMATION 37
Improper Residence Hall Check Out \$105	Prior Learning Assessment (PLA) Fees
P. aataa a, t.	A at t \$27 E a. at t (a. 5 t) 91
	$E \mathbf{a} \cdot \mathbf{a} \qquad \qquad t \qquad (\mathbf{a} \cdot 5 t) \qquad \qquad 91$
Incomplete Grade \$19	t
Late Registration— \$55	Program Continuation Fee \$11
	A at't t, a a a t a a, t
Non-Current Student Accounts a t a	. at.at tt t
a, a t. t at t . ± t	
	. 1 - 1 1 .4 (1,1 , 1,4 ,
alta - titatalti, "	a / a) 48.
tt, tataata	
	Reduced Tuition Fee. a , t t DA , t t A t t a a 33% t C t
Non-Sufficient Funds (NSF). C a t \$22	ja ja čiti tije ja je ja je
	t Alt. i a a 33% t C t
Payment Plans	t E Pa.
A. Tuition Guarantee Plan	
	Defend Cheel Delien
Tuition Guarantee Plan a a a t t + -	Refund Check Policy
a.a. a A Pat 🚤 a	t tt.t.a.t
ataa.Pa.tta ^{is} a	taaattitita a a
(.t., ,a, ,.aa aa)	att t/a.at. att
August 15t aast t tit at. tit at	att.tt.t
t ta .aat t tt .t	. tal.tal
a1 t (a	
A Pat saataa) a Ya t 5% t t	ataa at saatta ta
	aaa ita at titt.
t. ttal Ya, Ya, a Ya	tg taat ttaaa.
at attit a Ya,.	Aalt taalaata-
Ea @a.ata.atta.	at .
t tttttata.	1 aaa ata.
B. Cash Discount Plans	al Datatita.
5% Discount Plan— 4 a a a a a	
	t a a st. t a . a a -
t. t.a. t.at t.at .t t	att at Vota. Lat
(a a a a) t .	at ta .
a August 15 a a 5% t.E.a	t. t.t tA t D a ,
@a.ata.aatta.t	
.t tttt.t'a.t.	. at t' t' t', t',
a tt a t t \$1,000.	t. t.t.a.tt tt
aaa at t ta a.	t tita at tal, t
	t a.
t. t.a. t.at t.alt t	
(a aaa) t	Registration Central.
t a a 2% t t . a t t . t \$500. Ea a -	at, t <u>a.</u> a.
a t t t \$500. Ea a - t t t August 15 for Fall semester a	tal Cta.
t t t August 15 for Fall semester a	
December 15 for Spring semester. E a @a .	Rescheduling tt t a a t t . \$50
ata .a tta.t .t t	<u> </u>
t t'a .tt .aaa at t	t a t .
taa.	
C. Installment Plan—A a t a ta t a t	<u>a tt</u> a , , a a \$50
C. Instanment Fran—A a t a ta t a t	
tata.it't.	ata.°
tata, atti:	
1.A ataa (tata	Student Financial Services (SFS) Approval :
aa) . t .a 2. a tt t a 60% t t a .t t' t t .	a a ts t a a t A ttC A a a at
2. a tt t a 60% t t a	A ttC A a a at
.t t' t t.	_ a a a
3.Patat ta.tt t -	A taa . t a . t. ta a-
tt taa .	a a . at. t t . t . a,
4. _L a a t a a t \$25.	aa, taa taa
5. A 1% t (12% a) t t a	t t. ta/a.
att tata.t.	
	Student Status. 1 tal. a at at. t taa aa aa aa tat. t at a,taaa a, at a a.a -
Post-Dated Checks a tat.	taa a a a a a , t at t
	at a ,ta a at , at at a -
Prior Accounts. 1 t a t a t t	,a t
t a a .	

Prior Accounts. 1 a 1 1 1 a 1

₹ 5	.a . t	t				
100%		1 ^t	3	a	a	a
50%		4	10	a	a	a
0%		1 I ^t	at	a	t	

CHARGES

RESIDENCE HALL	CHARGES
----------------	---------

Resid	lence I	Hall (harg	es I	or	\mathbf{E}	ach Semester	
D .		a	P a	a	P	a	*	\$1,345
Single	e Occu	pancy	/					2,017
D .	Da	a						13
₹:	Da	a						19
-₹.			t	2	ι,	t	, 🤜	a

Improper Residence Hall Check Out \$105

Residence Hall Non-returned Key and Lock Change Fees

- t. \$10 L a 50

Personal Effects Insurance.

t a a are calTJ T* [eTTeturcampus .8(v)14.e is J Tchinr misce

Café Account

	. a . t t	. a(Ca A 1	l		\$50
	Ca A	t a a	a a	.a .	a . a	t
t	t	a t	. 1 .	. 1	D a t	
a	t ata:	a.	a a a	. 1 1	a,	
t	.a., 11	₹,			a a a	. 1
t s	a, 11 1 aa	a t."	ta t	., 11	1 1	
	a 🔩				3	

UNIVERSITY APARTMENTS & HOUSES CHARGES

University Apartments

Application Fee			\$320
a a	a	:	
⊸r.tD t			200
$C^{\mathbf{S}_{\mathbf{a}}}$,	a		100
₽ ,	a		20

9 4 (4) (221	
P a	COLLEGE OF TECHNOLOGY CHARGES
a . t - t. 281	
t 50- 1 ta t. t. a. t.t a . a.t t ta	Aeronautical Technology A A at a a ta A L 1t a (116, 117, 216, 217, 306, 307, 456, 466, 467, 474, a 486) a 50% at t t. t a t A L t t t t t t t a t A L Add t t t t t t t a t a t A L t t t t t t t a t a t A L t t t t t t t a t t a t A L t t t t t t t a t a t A L t t t t t t t a t t a t A L t t t t t t t a t a t A L t t t t t t t a t t a t a t A L t t t t t t a t t a t a t A L t t t t t t a t t a t a t A L t t t t t t t a t t a t a t A L t t t t t t t t a t t a t a t A L t t t t t t t t a t t a t a t A L t t t t t t t t t a t t a t a t A L t t t t t t t t a t t a t a t A L t t t t t t t t t a t t a t a t A L t t t t t t t t t a t t a t a t A L t t t t t t t t t a t t a t a t A L t t t t t t t t t a t t a t a t A L t t t t t t t t t a t t a t a t A L t t t t t t t t t t t a t t a t a t A L t t t t t t t t t t t t a t t a t a t
a 16 t	Aaa taa taa taa taa aa taa Ag 104 aa .
a a . \$125 , C a , La 'C . ,	attat tatt
\$ \$67 t tta at t	Private Pilot Certificate
- t.	1
Nursing - a a a \$57	A at 55 (C-152) @ \$60/ 3,300
Dat ta t a a 112	AA a
La a a	Total Cost \$5,140
250	Commercial Pilot Certificate and Instrument Rating
y — a 169 → 250	t . t 75
$-a^{3}$ 334 250	30 @ \$35/
*C.a ta 5 t t	A at 105 (C-152) @ \$60/ 10 (C-172 \) @ \$90/ 900
Nutrition	AA a <u>530</u>
A a Dii i Pa \$48	Total Cost \$11,405
D t t t P a a t 276 P at (D 594-02), a t 1,934	Multi-engine Rating
Physical Therapy Professional Programs—MPT and DPT	15 a @ \$35/ 10
Cattata \$300 atat <u>t</u> tattata	A at
ata tilata aa a/aaa tat .	15 (At) @ \$200/ AA a
P a Dat a \$7,400	Total Cost \$4,050
(t; at Pt.t) -aPat.t/aaat.	Flight Instructor Certificate
aa taaa,	15
att, .a., a.a	A at
DP a B	5 (C-152) @ \$60/ 10 (C-172 •) @ \$90/ 900
aa t. a.a , a	AA a <u>355</u>
tt, .a., a.a	Total Cost \$2,955
Pt a a CÈ J a	Instrument Flight Instructor Certificate
Aa CtAta a	t . t 15 . a @ \$35/ \$525
a a t t (36 a)a	25 @ \$35/
	A at 15 (C-152) @ \$60/ 900
Social Work Professional Fees	AA a <u>265</u> Total Cost \$2,565
J. a - 84	
(Ca t,)	Multi-engine Instructor Rating
	15 .a. @ \$35/ \$525
	25 @ \$35/ 875

A at 15 (At) @ \$200/ AA a Total Cost	3,000 <u>175</u> \$4,575
Mission Pilot Preparation	
$t \downarrow t$	
20 a @ \$35/	\$700
15 @ \$35/	525
A at	4.000
20 (C-150) @ \$65/	1,300
Total Cost	\$2,525
Airline Transport Pilot Certificate	
1 1	
20	\$700
25 @ \$35/	875
A at	0,0
20 (C-172 •) @ \$90/	1,800
AA a	90
Total Cost	\$3,465
Ground School—Non-Credit Ca t t (a , a a t t) P a t t (s , s s s s s s s s s s s s s s s s s	\$225 \$100 .a. \$420
Aviation Maintenance	
La a (t) A a &P Patt t	\$2,350 175
FAA Exams (Maintenance)	
A ^T It t(ttaa/a/ata)	\$645
-AJt t (tt, a,a ata)	1,020
Aircraft Rental Rates per hour (WET)*	
C a 152 C a 150 a	\$60
	65
C a 172	75
C a 172 •	90
Cta a	65 75
Da P At	200
ı At	200
* 1.P a . tt a t .t t . 2.C t a a t a at 3.C t t	

Fee for Deposit	drafting desk, stool & lamp Fees	\$30
a		\$125
K	at	10
Ва		40
Ca		25

Other departmental charges for individual courses are listed in the *Class Schedule*. These charges, which may be significant, are added to tuition.

DIVISION OF ARCHITECTURE CHARGES

Professional program application Professional education fees		\$40
P _	a a 1	\$425
P _	a a 2	615
P	a a 3a 4	615
P	a a 5	705
(C.a	1 .)	